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@EIEH i‘|5/H/F| H31.4.4 R1.5.9 R1.6.13 R1.7.11 R1.8.8 R1.9.5 R1.10.10 R1.11.7 R1.12.5 R2.1.9 R2.2.18 R2.3.5
Al C 15.0 20.3 25.0 26.7 34.2 31.6 25.7 19.9 9.7 13.1 9.2 13.5
JKiE C 15.6 18.9 22.2 23.6 26.7 27.6 26.4 21.4 17.4 14.6 13.9 14.1
TR SR mg 1 0.24 0.25 0.26 0.21 0.24 0.24 0.21 0.19 0.18 0.21 0.23 0.25
— {l& ' ml =100 0 0 0 0 0 0 0 0 0 0 0 0
PN s s SRRV S| BEne | smiishan] itshen| BiE e | smitishan] isShen| siiE e | smitishagn] sitshen| & n
AL PZE DAY meg,/1 =0.003 <0.0003
IKERK O DL AW mg,/1 =0.0005 <0.00005
YV R OZDILEY mg,/1 =0.01 <0.001
WM OZDLEY mg 1 =0.01 <0.001
LE KL OZDILED meg,/1 =0.01 <0.001
Aiizo M) mg,1 =0.05 <0.005
dh IR AR % mg,/1 =0.04 <0.004
VT ALALY mg,1 =0.01 <0.001 <0.001 <0.001 <0.001
e

e m;f*” mg,/1 <10 1.2
7Rz M OTDIED mg1 =0.8 0.07
KU NEDILEY mg,/1 =1.0 <0.1
RRIES mg,1 =0.002 <0.0002
1,4-V" 4% mg,1 =0.05 <0.005
VA-1,2=VanxFLy O
PRty mg,/1 <0.04 €0.004
ALY mg,/1 =0.02 <0.002
S ZEEES mg,/1 =0.01 <0.0005
NZoozFlLy mg,/1 =0.01 <0.001
N mg /1 =0.01 <0.001
SRR mg1 =0.6 <0.06 <0.06 <0.06 <0.06
JuulER mg,/1 =0.02 <0.002 <0.002 <0.002 <0.002
okl A mg,/1 =0.06 <0.006 <0.006 <0.006 <0.006
v ook meg,/| =0.03 <0.003 <0.003 <0.003 <0.003
V7 uEyun Ay mg,/1 =0.1 <0.01 <0.01 <0.01 <0.01
L mg,/1 =0.01 <0.001 <0.001 <0.001 <0.001
S IN mg, 1 =0.1 <0.01 <0.01 <0.01 <0.01
M) 7o e mg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
7 aEy oy mg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
7 BERVA mg,/1 =0.09 <0.009 <0.009 <0.009 <0.009
TVAT VT BN mg,/1 =0.08 <0.008 <0.008 <0.008 <0.008

iR OZD(LEY mg,/1 =1.0 <0.01
TIVIZUA R OFOED | mg/1 =0.2 <0.02 0.04 <0.02 <0.02
RO DILEY mg,/1 =0.3 <0.03
N OZDLE mg1 <1.0 <0.02
ﬂJf?A&U%@ﬂ:/\% mg 1 =200 7.0
NV R OZFDOALEY mg 1 =0.05 <0.005
WAkt mg,/ =200 5.8 5.8 4.9 4.0 3.6 3.0 3.8 4.2 4.5 4.6 5.1 4.8
i mg 1 =300 52
ZIETREY) mg 1 =500 110
B A A S e T P mg1 =0.2 <0.02
VA AV mg, /1 [ =0.00001 <0.000001
2-AFNMAY R VA=V mg, 1 | =0.00001 <0.000001
FEAL S i PE A mg 1 =0.02 <0.002
7x)—)VIE mg,1 =0.005 <0.0005
HEEY mg /1 =3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
PH{E 5.8=8.6 7.1 7.1 7.1 7.1 7.2 7.1 7.1 7.1 7.2 7.1 7.2 7.1
IS S WAL MERL] BEAL] MEL | WAL MEel | EEAL] WL MERL] BEAL] MERL| BERL
R HEaU| BEkl] BEEAaL] BEAL] Bkl BEEAL] BEAL] BEAl] EEAL] EEAL] BEEAL] BEaL] BEL
(=S = =5 <0.5 <0.5 <0.5 <0.5 0.6 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B JE =2 <0.1 <0.1 <0.1 <0.1 0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1




